Sh‘jaua hr‘nnﬂhreaﬁnﬂ W) = \'_\7 (JC‘ ) \

-
v(f) vt + A\ AG / V()

Jatharma e‘hnalaﬂa pr‘ihtjrn'mﬂar

openstax _A_U__ — Q’Fr— AU = (I\TJ_BAF



Radiahréaun -- hrazun Gtpdttar

' /\\J Ll
) -

SEERVIEN
?ﬁ"‘;"o ﬁ»ﬂ c

—-

Qﬁrlr \“a{-‘na hrinﬂhretjﬁnau VOraur a3 vera {dst mizsdknarhrozun
mMissoknarnrosun

v

ay m’ta\‘lu hr'tnﬂbrau’rar

O(::e. NStax



Daemi um st rd midsdknarhrésunar @

Centripetal Acceleration (m/s? or factors of

Object 9)
Earth around the Sun 5.93 x 1073
Moon around the Earth 273 x 1073
Satellite in geosynchronous orbit 0.233
Outer edge of a CD when playing 5.78
Jet in a barrel roll (2-3 9
Roller coaster 52
Etlectmn orbiting a proton in a simple Bohr model of the 9.0 x 1022
atom

Table 4.1 Typical Centripetal Accelerations
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dr(t . N
V(1) = dE‘ ) = —AwSsin wtl + Awcos wt].
oq opEeNSTax
dv(t . -
al) = Z(t ) = —Aw® cos ot — Aw” sin wt J.

pvi slst lika a3

| polhnitum er erfizara az finna afleizurnar pvi @iningarvigrarnic eru fika
hazic fima. Svo er ekki 1 kartiskum hnitum
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Figure 4.26 The positions of particle Prelative to frames Sand §' are ¥ pg and ?PS’ , respectively.



@ EXAMPLE 4.14

Flying a Plane in a Wind

A pilot must fly his plane due north to reach his destination. The plane can fly at 300 km/h in still air. A wind is
blowing out of the northeast at 90 km/h. (a) What is the speed of the plane relative to the ground? (b) In what
direction must the pilot head her plane to fly due north?
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